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— deast

(a+b)(c+d)=ac+ ad + bc+ bd

B WoOXZERER L7 SV,
1 @Cx-3)@x-7)

2 (x+y)(a+b+o)

— WA

(x+a)(x+b)=x*+(a+b)x+ab

() WO ZEREE LS,
1) x+5x+2)

(3) (ab-3)(ab-1)

(2 (x+6y)(x—9y)

(4)  (xy—82)(xy + 22)

ERAL T
112=121 122=144 13?2 =169 14% = 196 152 = 225
162 =256 172=289 18% =324 19% = 361 452 = 2025
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[1] woRERE LRI,

1 (a=b)(c—-d) (2) (x+y)(a+b) (3 (2x-5)(Bx—4)

(4) (2a+3b)(a—5b) (5) (x—1)(x2+3x-05)

[2] woRERE LA,

1 (x+3)(x+4) 2 (x-Dx-4

B (x—-6)(x+7) 4) (m-9)(m-3)

G p-7NDp-4 6) (a+1)(a—18)

() (xy+8)(xy+4) (8) (ab—3)(ab+2)

(9 (x+5y)(x—3y) (10) (x+y)(x +6Y)
(11) (m—6n)(m —9n) (12) (@ +49)( -39
(13) (xy+22)(xy + 52) (14) (xy —2)(xy — 42)
(15) (x+0.4)(x +0.2) (16) (a—0.3b)(a—0.7b)

(%)) (xy - g) (xy + %) (18) (2x+3)(2x+5)



